L3(8).6 (mod 7)
blocks | defect matrix
G: 1 2 25 x 18
2 0 26461 = X9+, P3+
3 0 26462 = X15+, Po+
4 0 26463 = X214, P15+
5 0 26464 = X274+, P21+
6 1 7%x6
7 1 5X2
Block 1: | w10 ®1,1 Y12 ®13 14 P15 P20 P21 P22 P23 P24 P25
11 = XI,O 1 .
12 = Xl,l 1 .
I3 =x12 1 .
li=x13 1
Is = x14 .
e = x1,5 1 )
721 = X2,0 1 .
722 = X2,1 1 .
723 = X2,2 1 .
724 = X233 1 .
725 = X2,4 1 .
726 = X2,5 . . . . . . . 1
4381 = X3+ 1 1 1 1 1 1 1 1 1 1 1
5121 = Xe61,0
9122 = x61,1
9123 = Xe1,2
9124 = X61,3
9125 = X614
5126 = X61,5 . . . . . .
35041 = X62+ . . 1 1 1 1 1 1
13141 = x68,0+ 1 . 1 . 1 1 . 1 1
13142 = X68,1+ 1 . 1 . 1 1 . 1
13143 = x68,2+ 1 1 1 1 . 1 1 .
1971 = x7004 | 1 . 1 . 1 1 1111
19719 = x70,1+ 1 1 1 1 1 1 1 1 1




(Block 1:)

©31,0

©31,1

©31,2

©31,3

©31,4

©31,5

i =x1,0

o =x11

13 = x1,2
li=x13

Is = x1,4

le = x1,5

721 = Xx2,0

720 = X2,1

723 = X2,2

724 = X2,3

725 = X2,4

726 = X2,5
4381 = X3+
5121 = X610
9122 = x61,1
9123 = x61,2
9124 = X61,3
9125 = X61,4
5126 = Xx61,5
35041 = xe2+
13141 = x68,0+
13142 = X68,1+
13143 = X68,2+
19711 = X7070+
19712 = x70,1+

Block 6:

©27.0

Y271

Y272

©27.3

©27.4

©27.5

511y = x33,0
511ls = x33,1
5113 = x33,2
5114 = X333
5115 = x33.4
o1l = X335
30661 = X37+

1

¥1,0
©1,1
©1,2
¥1,3
1,4
¥1,5
$2,0
Y21
©2,2
¥2,3
©2.4
¥2,5
©31,0
¥31,1
©31,2
©31,3
©31.4
¥31,5

¥27,0
P27,1
$27,2
¥27,3
P27,4
¥27,5

511,
511,
511,
511,
5115
5116



Block 7:

15331 = X3470+
15332 = x34,1+
30662 = X3+
30663 = X49+
30664 = X554+

©28,0+ P28,1+
1 .

. 1

1 1

1 1

1 1

$28,0+
P28,1+

15334
15332



